

1/4

PURCHASE REQUEST

2624-61-051

epartmen	ıt:	Department of Education [DepEd]	PR No:		01/12/2023	
ection / O	ffice:	CID	SAI No:			
Stock No.	Unit	Item Description	Quantity	Est. Unit Cost	Total Cost	
		SNACKS				
		Activity: Regular CID Interactive Engagement for Continuous Professional Development				
		January, 2024				
1		*(snacks worth Php 5,000.00)			5,000.00	
	pack	Biscuits (Magic Flakes -Plain, Fita, Presto -Butter/Chocolate)	25	75.00	/ 1,875.00	
	doz.	stick coffee	11	85.00	935.00	
	kg	Brown Sugar	2	95.00	190.00	
	doz.	Powdered Milk (sachet)	10	200.00	2,000.00	
					•	
		February, 2024				
2		*(snacks worth Php 5,000.00)			5,000.00	
	pack	Biscuits (Magic Flakes -Plain, Fita, Presto -Butter/Chocolate)	25	75.00	1,875.00	
	doz.	stick coffee	11	85.00-	935.00	
	doz.	Brown Sugar	2	95.00	190.00	
	kg	Powdered Milk (sachet)	10	200.00	2,000.00	
		March, 2024				
3		*(snacks worth Php 5,000.00)			5,000.00	
	pack	Biscuits (Magic Flakes -Plain, Fita, Presto -Butter/Chocolate)	25	75.00	1,875.00	
	doz	stick coffee	11	85.00	935.00	
	doz.	Brown Sugar	2	95.00	190.00	
	kg	Powdered Milk (sachet)	10	200.00	2,000.00	
		SUB-TOTAL SUB-TOTAL	LOUS I		P 15,000.00	
		Page 1 of 4			A	
JRPOSE:	For the	conduct of the Regular CID Interactive Engagement for Continuous Professional Dev	velopment			
		Requested by:		Approved	by:	
nature:		10 dell	1001			
ted Name	9:	ĘVEĽYŃ C. LABAD	ROY C. TUBALLA EMD, JD, CESO V			
esignation: ate:		EPS	Schools Division Superintender			



2/4

PURCHASE REQUEST

Department		Department of Education [DepEd]	PR No:		01/12/2023		
Section / Office:		CID					
Stock No.	Unit	Item Description	Quantity	Est. Unit Cost	Total Cost		
		Balance Forwarded (from Page 1 of 4)			15,000.00		
		April, 2024					
4		*(snacks worth Php 5,000.00)			5,000.00		
	pack	Biscuits (Magic Flakes -Plain, Flta, Presto -Butter/Chocolate)	25	75.00	1,875.00		
	doz.	stick coffee	11	85.00	935.00		
	doz	Brown Sugar	2	95.00	190.00		
	kg	Powdered Milk (sachet)	10	200.00	2,000.00		
		May, 2024			5,000.00		
5		*(snacks worth Php 5,000.00)	25	75.00			
	pack			85.00	1,875.00		
	doz.	stick coffee	11 2	95.00	935.00		
	doz. kg	Section (Control of the Control of t		200.00	2,000.00		
		June, 2024					
6		*(snacks worth Php 5,000.00)			5,000.00		
	pack	Biscults (Magic Flakes -Plain, Fita, Presto -Butter/Chocolate)	25	75.00	1,875.00		
	doz.	stick coffee Brown Sugar	11 2	85.00 95.00	935.00		
	kg	Powdered Milk (sachet)	10	200.00	190.00		
					2,000.00		
		SUB-TOTAL			30,000.00		
		Page 2 of 4					
PURPOSE:	For the	conduct of the Regular CID Interactive Engagement for Continuous Profes	ssional Developmen	t			
		Reguested by:		Approved by	y:		
ignature:		a dilay		4			
Printed Name:		EŅĒLYŇ Č. LABAD		C. TUBALLA EMD, JD, CESO V			
esignation: ate:		EPS		MONT OD	pols Division Superintendent		

(blocked brough are)



PURCHASE REQUEST

3/4

Department	t:	Department of Education [DepEd]	PR No:		01/12/2023	
ection / Of		CID	SAI No:		7.53	
Stock No.	Unit	Item Description	Quantity	Est. Unit Cost	Total Cost	
		Balance Forwarded (from Page 2 of 4)			30,000.00	
		July, 2024				
7		*(snacks worth Php 5,000.00)		The said	5,000.00	
	pack	Biscuits (Magic Flakes -Plain, Fita, Presto -Butter/Chocolate)		75.00	1,875.00	
	doz.	stick coffee	11	85.00	935.00	
	doz.	Brown Sugar	2	95.00	190.00	
	kg	Powdered Milk (sachet)	10	200.00	2,000.00	
		August, 2024				
8		*(snacks worth Php 5,000.00)		,	5,000.00	
	pack	Biscuits (Magic Flakes -Plain, Fita, Presto -Butter/Chocolate)	25	75.00	1,875.00	
	doz.	stick coffee	11	85.00	935.00	
	doz.	Brown Sugar	2	95.00	190.00	
	kg	Powdered Milk (sachet)	10	200.00	2,000.00	
		September, 2024				
9		*(snacks worth Php 5,000.00)			5,000.00	
	pack	Biscuits (Magic Flakes -Plain, Fita, Presto -Butter/Chocolate)	25	75.00	1,875.00	
	doz.	stick coffee	11	85.00	935.00	
	doz.	Brown Sugar	2	95.00	190.00	
	kg	Powdered Milk (sachet)	10	200.00	2,000.00	
		SUB-TOTAL	CHARLES AND A		P 45,000.00	
		Page 3 of 4				
PURPOSE	: For the	conduct of the Regular CID Interactive Engagement for Continuous Profes	ssional Developmen			
		Requested by:		Approved	by:	
gnature:		add N	1	-	ID ID OFFICE VI	
Printed Name:		EVELY C. LABAD	ROY C.	Y C. TUBALLA EMD, JD, CESO V		
Designation: Date:		EPS		Schools Division Superintendent		

grocess burn tu)



4/4

PURCHASE REQUEST

Department: Section / Office: Stock No. Unit		Department of Education [DepEd] C D Item Description			01/12/2023 Total Cost
				Est. Unit Cost	
	Oille	Balance Forwarded (from Page 3 of 4)	Quantity		45,000.00
		October, 2024			
10		*(snacks worth Php 5,000.00)			5,000.00
	pack	Biscuits (Magic Flakes -Plain, Fita, Presto -Butter/Chocolate)	25	75.00	1,875.00
	doz.	stick coffee	11	85.00	935.00
	doz.	Brown Sugar	2	95.00	190.00
	kg	Powdered Milk (sachet)	10	200.00	2,000.00
		November, 2024			
11		*(snacks worth Php 5,000.00)			5,000.00
	pack	Biscuits (Magic Flakes -Plain, Fita, Presto -Butter/Chocolate)	25	75.00	1,875.00
	doz.	stick coffee	11	85.00	935.00
	doz.	Brown Sugar	2	95.00	190.00
	kg	Powdered Milk (sachet)	10	200.00	2,000.00
		December, 2024			
12		*(snacks worth Php 5,000.00)			5,000.0
	pack	Biscuits (Magic Flakes -Plain, Fita, Presto -Butter/Chocolate)	25	75.00	1,875.0
	doz.	stick coffee	11	85.00	935.0
	doz.	Brown Sugar	2	95.00	190.0
	kg	Powdered Milk (sachet)	10	200.00	2,000.0
		Place of Delivery: Schools Division Office of Zamboanga del Norte			
		Term of Delivery: Monthly delivery (every 1st week of the month)		7	
		Note: Proposed Menu is subject to change upon the request of the implementer			
		***nothing follows**			
		SIXTY THOUSAND PESOS ONLY			P 60,000.00
PURPOSE	: For the	Page 4 of 4 conduct of the Regular CID Interactive Engagement for Continuous Professional D	evelopme	nt	
		Requested by:		Approved	by:
Signature:		Addl	pe /		- 12.02221
rinted Name	9:	EMELYN C. LABAD	ROY C. TUBALLA EMD, JD, CESO V		
Designation: Date:		EPS /	Schools Division Superintendent		



Republic of the Philippines

Department of Education

REGION IX SCHOOL DIVISION OF ZAMBOANGA DEL NORTE

REQUEST FOR QUOTATION

The Department of Education – Zamboanga Del Norte (DEPED) – Bids and Awards Committee (BAC) will undertake a Small Value Procurement with the title <u>Snacks for the Conduct of the Regular CID Interactive Engagement for the Continuous Professional Development(PR NO.2024-01-051)</u> for FY 2024 in accordance with Section 53.9 of the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184.

Please quote your best offer for the item described herein, subject to the Terms and Conditions provided at the next page of this Request for Quotation (RFQ). Submit your quotation duly signed by you or your duly authorized representative not later than <u>Feb 07, 2024 10:00:00 AM</u> at the BAC Office, Schools Division of Zamboanga del Norte, Capitol Drive Estaka Dipolog City. Open submission may be submitted, manually or through email at zn.bac@deped.gov.ph

A copy of your 2024 Business/Mayor's Permit, PhilGEPS Registration Number, Tax Clearance, DTI/SEC/CDA, Certificate of Registration and Omnibus Sworn Statement are also required to be submitted along with your quotation/proposal.

For any clarification, you may contact us at cellphone no. 0946-025-6019.

BAC Vice - Chairperson - Goods & Service

Stock No.	Unit	Item Description	Quantity	Unktrice	Total Price
1	pack	Snacks for the Conduct of the Regular CID Interactive Engagement for the Continuous Professional Development January - December 2024 Biscuits (crackers-plain; With filling: Butter, Chocolate) - 25packs per month	300		
2	dozen	Stick Coffee - 11 dozen per month	132	Day sills	
3	kg	Brown Sugar - 2kgs per month	24	la usalma	NAME OF
4	dozen	Powdered Milk (sachet) - 10 dozen per month	120		
terrord.		Place of Delivery: Schools Division Office of Zamboanga del Norte Term of Delivery: Monthly Delivery (every 1st week of the month) Note: Proposed Menu is subject to change upon the request of the implementer *** Nothing Follows ***	e vente vente de de al tier	e freeholder and probable careal or	
		The second secon	Total:		

*The above qouted prices are inclusive of all costs and applicable taxes.

The above qu	atou pinoco are i	monatore of all costs al	id applicable taxes.	
The Chairman Bids and Awards Committee	ee			
Division of Zamboanga del Capitol Drive, Estaka, Dipo				
Madame: Pursuant to the terms and for which bidder's bond of faithful compliance of my/o	of 10	bidding, I/We hereby	submit my/our bid proposal is herewith propos	with the prices opposite each iter ed/enclosed as guaranty for th
			Very truly yours,	
			Name & Sign	nature of Bidder/Offeror
				1





Address: Caption Drive, Estaka, Dipolog City 7100

Email: zn.bac@deped.gov.ph

FB: DepEd Tayo-School Division of Zamboanga Del Norte

Tel. No.:(065)212 - 5843 Website: www.depedzn.net

Page 1 of 1



Republic of the Philippines

Department of Education

REGION IX SCHOOL DIVISION OF ZAMBOANGA DEL NORTE

INSTRUCTIONS

- 1. Accomplish this RFQ correctly and accurately.
- 2. Do not alter the contents of this form in any way.
- 3. All technical specifications are mandatory.
- 4. Failure to comply with any of the mandatory requirements will disqualify your quotation.
- 5. Failure to follow these instructions will disqualify your entire quotation.

TERMS AND CONDITIONS:

- 1. Bidders shall provide correct and accurate information required in this form.
- 2. Price quotation/s must be valid for a period of thirty (30) calendar days from the date of submission.
- Price quotation/s, to be denominated in Philippine peso shall include all taxes, duties and/or levies payable.
- 4. Quotations exceeding the Approved Budget for the Contract shall be rejected.
- Award of contract shall be made to the lowest calculated and responsive quotation (for goods and infrastructure) or, the highest rated offer (for consulting services) which complies with the minimum technical specifications and other terms and conditions stated herein.
- 6. Any interlineations, erasures or overwriting shall be valid only if they are signed or initialed by you or any of your duly authorized representative/s.
- 7. The item/s shall be delivered according to the requirements specified in the Technical Specifications.
- 8. The DBM shall have the right to inspect and/or to test the goods to confirm their conformity to the technical specifications.
- 9. In case two or more bidders are determined to have submitted the Lowest Calculated Quotation/Lowest Calculated and Responsive Quotation, the GPPB-TSO shall adopt and employ "draw lots" as the tie-breaking method to finally determine the single winning provider in accordance with GPPB Circular 06-2005.
- 10. Payment shall be processed after delivery and upon the submission of the required supporting documents, in accordance with existing accounting rules and regulations. Please note that the corresponding bank transfer fee, if any, shall be chargeable to the contractor's account.
- 11. Liquidated damages equivalent to one tenth of one percent (0.1%) of the value of the goods not delivered within the prescribed delivery period shall be imposed per day of delay. The DBM shall rescind the contract once the cumulative amount of liquidated damages reaches ten percent (10%) of the amount of the contract, without prejudice to other courses of action and remedies open to it.





Address: Caption Drive, Estaka, Dipolog City 7100 Email: zn.bac@deped.gov.ph

FB: DepEd Tayo-School Division of Zamboanga Del Norte

Tel. No.:(065)212 - 5843 Website: www.depedzn.net

Page 1 of 1

CERTIFICATE OF CANVASS

THIS IS TO CERTIFY that the foregoing canvass / quotation was made in accordance with the government rules and regulation on any contract into and contain herein the following pertinent facts.

NAME OF DE	EALER	DATE RECEIVED	SIGNATURE
-15		h	
	RA	ADJĮE G. ENERIO	
		Canvasser	
		Date of Canvass	
	B	IDDERS CERTIFICATE	
THIS IS TO		e undersigned of	located at
		ally received the Invitation to Bid I Norte Division duly signed by the it:	
	es affixed in the In the or my authorized	nvitation to Bid/Request for quotation representatives;	ons as bidder is authentic as
2. That all the da	ata/information and o	quotations reflected therein are true a	nd correct;
original copy		nitted in satisfaction of the eligibility re il reproduction of the original and that ect;	
Issued this	day of	, In the City of Dipolog, Pro	ovince of Zamboanga del Norte.
	(Name o	f the Owner/Authorized Representative	e)
	-	(Signature)	
		(Date)	